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Fp(X,)=achromatic receptor responses , W
la X la

X
_h&l _—¢e
[ Fan(x) =b R X la

CIPN a=1,00, b=0,50

processW  F1.0550

L ,=28cd/n?
L

Fap(X,)=achromatic receptor responses , W
la X /a

34

24

14

X,
_p&l —¢e
Fap(x) =D &X' ~x,/a

A, @ a=1,00, b=1,00

U o
/-

(0]

-1

L ,=28cd/n?
L

4 x =log[L/L,]

hevs0-1a

34

F,x(X;)=achromatic receptor responses , W
X /a efx,/a

X
F . (x)=b
[ Fa(Xr) Xl gl a=1,00, b=1,00

processW  F11

L ,=28cd/n?
L

X, =log[L/L ]

hev50-2a

3

24

F,p(X; )=achromatic receptor responses |, W, | +W
X /a efx,/a

eXrfa_
Eully) m b7
ab( r) ex’/a+ e—x,/a a=1,00, b=1,00

L ,=28cd/n?
L

al

..Fab(xr) =b eXrlay gxla

%, =log[L/L ]

n(X;)=achromatic receptor responses , W, = +W
X la _ efx,/a

a=1,00, b=1,00

process W

L =28cd/n?
L

%, =log[LIL ]

hev50-4a

3

24

14

Fab(xr):achromatic receptor responses , W, ' +W
ex,/a_ X la

Ets) B eF———7%
a(Xr) Xilay gxifa a=1,00, b=1,00

process W

process: +W

0

L ,=28cd/n?
L

EL)
3

%, =log[L/L ]

(X, )=achromatic receptor responses , W, « +W
eXila_ e—x,/a

Falr) st ——p
L Fa(%r) eXrla . gxila a=1,00, b=1,00

process W

L =28cd/n?
L

3

2

%, =log[L/L ]

ab(x,):achromatic_ge/;:eptor responses , W, +W
:

Xp/a _
Fp(%) = b&—E—
e¥rla 4 gxifa a=1,00, b=1,00

process W

process: +W

L =28cd/n?
L

4 x=log[L/L]

hevs0-7a

hevs0-7n

4 x=log[LiL,]

hev50-8a

Fp(X;)=achromatic regggtor responses , W

3 PFarlx) =b

104/* — 10

10%/2 4 qg7xc /@ a=1,00, b=0,50, a'=aIn(10)=2,302

processW  F1_0550

L ,=28cd/n?
L
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Fap(X,)=achromatic recxfa/gtor responses , W

34

24

14

_ 0% 107

F.(x,)=b n .
() 105/ + 107/ a=1,00, b=1,00, a'=aIn(10)=2,302

process W Fia
/-

(0]

-1

L ,=28cd/n?
L

hevs1l-la

3..Fab(xr) =b

4 x =log[L/L,]

F,x(X;)=achromatic receptor responses , W
X fa' 107% a

10

10%/@ 4+ 107%/@  a=1,00, b=1,00, a'=aIn(10)=2,302

processW  F11

L ,=28cd/n?
L

4 x=log[L/L,]

hev51-2a

Fop(X;)=achromatic recifa/gtor responses , W, ' +W

3

24

)= 10 — 107

Ealls) 20— =
ab( T 1042 + 197 /@

a=1,00, b=1,00, a'=aIn(10)=2,302

L ,=28cd/n?
L

al
TFapx)=b

%, =log[L/L ]

p(X;)=achromatic receptor responses , W, = +W

10% la _ 107% &

105/ 4 g%/ a=1,00, b=1,00, a'=a In(10)=2,302

process W

L =28cd/n?
L

F
34
2

14

%, =log[LIL ]

p(X;)=achromatic re};e/gtor responses , W,  +W

0% — 10

Fan(Xr) = 10472 4 17 /2

a=1,00, b=1,00, a’=aIn(10)=2,302

process W

0

L ,=28cd/n?
L

al

3 TFu(X)=b

n(X;)=achromatic receptor responses , W,

%, =log[LIL ]

+W
10x,/a _ g%/

1072 + 107/ a=1,00,b=1,00, a=aIn(10)=2,302

process W Fi1

L =28cd/n?
L

al
34

2

%, =log[L/L ]

(X, )=achromatic receptor responses , W, | +W

_ 105/ g%/

F (X ) = b ==———
(%) 10578 £ 107%/@  a=1,00, b=1,00, a'=aIn(10)=2,302

process W Fia

. +F171

L ,=28cd/n?
L

hevs1-7a

4 x=log[L/L,]

4 x=log[LiL,]

hevs1-8a

TUB-test chart hev5; Model respondgg(x,), processes M-1<=a<=-0,7, b=0,5W (a=b=1), N+W

Tangens hyperbolicus tand) and modified with €@ and 16%/@"; a’=a In(10); no (+0,5)-shift
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